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3 point problems (mpoBAnpara 3 povadwv)

1. We put 2, 0, 1, 3 into an adding machine, as shown.
What is the result in the box with the question mark?
Baloupe 2,0,1,3 o pLa pnxovn mpocBeong, omwe dailvetal 0To oXHHO.
Moto lval To amotéAeopa oTo KoUTi e To cUPBoAO ?
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(A)2 (B)3 (€4 (D)5 (E)6
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Picture 1(Ewova 1) Picture 2 (Ewkova 2)

Nathalie wanted to build the same cube as Diana had (picture 1).

However, Nathalie ran out of small cubes and built only the part of the cube,

as you can see in the picture 2. How many small cubes must be added to Picture 2 to form Picture 1?
H NatoAia 0gAe va ktiosl éva kKUBo Onwe auto mou sixe Ntiva (Ewkova 1).

Ouwce n NatoAia dev gixe apkeTolg KpoUC KUBOUG Kal £TOL £KTLOE €va LEPOC TOU KUPBOU, OTWG
dalvetal oto oxnua 2. NoéooL pikpoi kuBoL mpénel va mpooteBolv otnv Ewova 2 ylo va
ouUUANpwOEel 6mwg otnv Elkdva 2.

(A)5 (B)6 (C)7 (D)8 (E)9

3. Find the distance which Mara covers to get to her friend Bunica.
Na Bpebel n andotacn mou Staviel N Mara yla va ¢taocel otn eiAn tng Bunica.

100 m, ) .
Mara 1 1 1 Bunica
8 4 2
(A) 300 m (B) 400 m (C) 800 m (D) 1 km (E) 700 m
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4. Nick is learning to drive. He knows how to turn right but cannot turn left.

What is the smallest number of turns he must make in order to get from A to B, starting in the
direction of the arrow?

O Nikog paBaivel va onya. Z€épel mwg va otpifel de€ld ald dev pnopeil va otplel aplotepa.
Molog elval o HIKPOTEPOC apLOOG OTPOdWV TTOU TIPETIEL VOL KAVEL VLA VA TIAEL Ao To onpeio A oto B,
apyxilovtag amno tn katevBuvon Tou BEAoug;

53 | |
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(A)3 (B)4 (C)6 (D)8 (E)10

5. The sum of the ages of Ann, Bob and Chris is 31 years.

What will the sum of their ages be in three years time?

To aBpolopa Twv nAkLwv TnG Avvag, tou BaciAn kat tou Xpiotou sival 31 xpovia.
Moto Ba eivat To ABpolopa Twv NALKLWY Toug o€ 3 XpovLa;

(A)32 (B)34 (C)35 (D)37 (E)40

6. What digit must be placed in all three boxes m m - m = 176, in order to make the multiplication
work?

Moto Yndio mpémnel va tornoBetnbel ota tpia kKoutid m M - B = 176 yla va LoyVeL o
TIOAAQTTAQGLOOOG;

(A)6 (B)4 (7 (D)9 (E)8

7. Michael has to take a pill every 15 minutes.

He took the first pill at 11:05. What time did he take the fourth pill?
O M AANnG pEMEL va Ttalpvel €va XamtL kaBe 15 Aemta.

MnApe To MpwTto XAt ot 11:05. Tt wpa P TO TETOPTO XATL;

(A) 11:40 (B) 11:50 (C) 11:55 (D) 12:00 (E) 12:05
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8. By drawing two circles, Mike obtained a figure, which consists of three regions (see picture). At
most how many regions could he obtain by drawing two squares?

Yxedlalovrtacg Vo kKUKAouG, 0 MiYaAng SnuLoupynaoe £va oxra TO OTOLo amoTeAETAL Ao TPEig
TEPLOXEC (OTWG oTo oxnua). 2xedlalovrag SU0 TETPAYWVA, TTOOEG TIEPLOXEG UTIOPEL va SnULOUPYNOEL;

(A)3 (B)5 (C)6 (D)8 (E)9

9. The number 36 has the property that it is divisible by the digit in the unit position, because 36 is
divisible by 6.

The number 38 does not have this property.

How many numbers between 20 and 30 have this property?

O aplBudg 36 €xeL TRV L6LOTNTA OTL Slatpeital pe tov Pndilo Twv povadwy tou, eneldn to 36
Slatpeital pe to 6. O aptbudg 38 dev £xel autr TNV LSLOTNTO.

Moéoot aplBuol petaty tou 20 Kal tou 30 £€4oUV AUTH TNV LBLOTNTA;

(A)2 (B)3 (4 (D)5 (E)6

10. Ann has a lot of pieces like the one in the picture.
H Avva £xel TTOAAQ KOUUATLO OTIWG QUTO ToU dalveETAL OTN €lKOVA.

She tries to put as many as possible in the 4 by 5 rectangle.
MpoomnaBei va BaAel 6oa meplocdtepa pmopei oto opBoywvio dtaotdcswv 4 emi 5.

The pieces may not overlap each other. What is the largest possible number of pieces Ann can put in
the rectangle?

To KOPUATLO SEV UIMOPOUV VAL ETUKAAUTITOVTOL LETALY TOUC. Molog ival o peyaAltepog aplOpog
KOUUOTLWY Ttou prtopei n Avva va tonoBetroel 6Tto opBoywvio;

(A)2 (B)3 (€4 (D)5 (E)6
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4 point problems (mpoBAfjpara 4 povadwyv)

11. Which of the following pieces covers the largest number of dots in the table?
Moto armod Ta 1Mo KATW KOPUATLA KAAUTITOUV TO HEYAAUTEPO aplBUd KOUKKISWV atov mivaka;

(A)w (B) § (€) C(D)$ (E)%—o

12. Mary shades various shapes on square sheets of paper, as shown.
H Maipn okialel Stadopa oxAHATA OE TETPAYWVA KOUUATLA ard Xapti, onwc ¢paivetal.

LHUTL T

How many of these shapes have the same perimeter as the square sheet of paper itself?
Méoa amoé autd Ta oxRuata £XouV TNV dLa TePIUETPO OMWGE TA TETPAYWVA KOUUATLA XOPTLOU;

(A)2 (B)3 (04 (D)5 (E)6

13. Ann rides her bicycle throughout the afternoon with constant speed. She sees her watch at the
beginning and at the end with the following result:

H Avva odnyel To moSNAato tng 6Ao to amoysupa pe otabepn TaxutnTa. BAEMEL TO pOAOL TNG OTNY
opxN Kol 0To TEAOG |LE TO TILO KATW QTMOTEAECHAL:

© @ ®

Which picture shows the position of the minute hand when Ann finishes 5 minutes before the one
third of the ride?
Mota swkova Seixvel Tn B£on tou Seilktn TwWV AEMTWY OTOV N Avvol TEAELWVEL 5 AETTTA TTPLV TO £val TpiTo

™G Slabpopng;
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14. Matthew is catching fish. If he had caught three times as many as he actually did, he would have
12 more. How many fish did he catch?

O MatBaiog Papelel Papla. Av Papeue tputhdoia Papla amno ot Papee Ba eixe 12 meplocodtepa.
MNooa Yapla Ppapes;

(A)7 (B)6 (C)5 (D)4 (E)3

Back
4121312
313112
211131
11212
15. FronT FRONT=Mmnpootivo pépog, BACK=Miow pépog

John has made a building of cubes. In the picture you see this building from above.

In each cell you see the number of cubes in that particular tower. Which picture below shows what
you see when you look at the building from the front?

O Mavvng €dptiage €va KTAPLO amo KUPBOUC. TNV TILO TTAVW ELKOVA GALVETAL TO KTAPLO OO TAVW.

Ye KAOe keAl dalvetal o apltBUOC Twv KUPBWV OTO CUYKEKPLUEVO TTUPYO. Mola ord TLG TILO KATW
£lKOVeC Seiyxvel auTto mou BAEMELS OTAV KOLTATELG TO KTAPLO OTIO TO UIMPOCTLVO UEPOC;

(A) (B) (€)

(D) (E)

16. In an election, each of the five candidates got a different number of votes.

The candidates received 36 votes in total.

The winner got 12 votes. The candidate in last place got 4 votes.

How many votes did the candidate in second place get?

Y€ Lo eKAOYLKN avap£Tpnon, o kKaBe évag amnod toug révte untoPridloug mipe Stadopetikd aplOud
and Pndouc. OLunoPndiol mrpav cuvohikad 36 Prdoug. O vikntAg mpe 12 Yridouc. O untoPrdlog
otn teheutaia Béon mipe 4 Yndouc.

MNoéooug Pridoug ipe o untoPridlog otn devtepn Béon;

(A)8 (B)8or9 ()9 (D)9or10 (E) 10
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17. From a wooden cube with side 3cm we cut out at the corner a little cube with

side 1cm (see picture). What is the number of faces of the solid after cutting out such a small cube at
each corner of the big cube?

Ao éva E0AVO KUBO pe TAeupEC 3cm KOPBOUUE oTh ywvia éva HIKpO KUBO pe TAeupd 1cm (Omwg
oTnV £lKOva). Molog ival o aplOUOC TWV EMLGOVELWY TOU OTEPEOU LETA TNV QTTOKOTI EVOG LKPOU
TETolou KUBOU amo kdbe ywvid Tou peydlou kUBou;

(A)16 (B)20 (C)24 (D)30 (E)36

18. Find the number of pairs of two-digit natural numbers whose difference is equal to 50.
Na BpeBet 0 aplBuog Twv Leuywv Suhndlwv puctkwy aplBuwv Twv omoiwv n dtadopd Toug eival ion
ue 50.

(A)40 (B)30 (C)50 (D)60 (E)10

19. The final of the local football championship was a match full of goals.

There were 6 goals in the first half and the guest team was leading after the first half.

After the home team scored 3 goals in the second half, they won the game.

How many goals did the home team score altogether?

O TteAKOG Tou ToTiKoU TpwtaOAnpatoc modoadaipou ATav éva motyvidl yedTo Ue yKOA.

To mpwTo nuixpovo métuyav Kat ot U0 opddeg 6 ykoA Kat n dthofevolevn opada mponyeito oto
okop. Metd mtou n torikr opdda £Rale 3 ykoA oto SsUtepo nuixpovo, képdloav to matyvidl. Méoca
OUVOALKA YKOA £BaAE n TOTUKN OpAdQ;

(A)3 (B)4 (5 (D)6 (E)7

20. In the squares of the 4 X 4 board, numbers are written such that the numbers in adjacent
squares differ by 1. Numbers 3 and 9 appear in the table. Number 3 is in the top left corner as
shown.

I1a teTpaywva Tou 4 X 4 mivaka, ol aplBuol ypddovtal woTte oL aplBpol oTa YELITOVIKA TETPAY WV
SlEdepav kata 1. Ou aplBuoti 3 kat 9 epdavitovral otov nivaka. O aplBuog 3 otnv MAVW 0pLoTEPN
YWVLA 61w daivetal.

How many different numbers appear in the table?
Moéool Stadopetikol aptbuot epdaviovral otov mivaka;
(A)4 (B)5S ()6 (D)7 (E)8
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5 point problems (mpoBAnpara 5 povadwv)

21. Aron, Bern and Carl always lie. Each of them owns one stone, either a red stone or
a green stone. Aron says: My stone is the same color as Bern's

stone", Bern says: "My stone is the same color as Carl's stone"'.

Carl says: “Exactly two of us own red stones".

Which of the following statements is true?

O Aron, o Bern kat o Carl mavta Aéve Pepata. O kaBévag toug £xel £va AiBo, eite kokKLvo AiBo
npaocwvo AiBo. O Aron Aéel: ~"O AiBog pou £xeL to (610 xpwpa onwc o AiBog tou Bern", O Bern Aéet:
"0 AiBog pou €xeL To 1610 Ypwua 6w o Aibog tou Carl".

O Carl AéeL: " AkplPwg Vo amod eudg £xouv KOKKIVouc AtBoug".

Mola armo TIG TLo KATW MPOTACELG Elval owWOoTH;

(A) Aron's stone is green (o AiBog Tou Aron eival mpacivog)

(B) Bern's stone is green (o AiBog Tou Bern eival mpdactvog)

(C) Carl's stone is red (o AiBog tou Carl gival KOKKLVOG)

(D) Aron's stone and Carl's stone have different colors (oL AiBol Twv Aron kat Carl £€xouv dL0.popPETIKO
Xpwpa)

(E) None of the above is true (kavéva amo ta mo navw eival cwotod)

22. 66 cats signed up for the contest MISS CAT 2013.

After the first round 21 were eliminated because they failed to catch mice.

27 cats out of those that remained in the contest had stripes and 32 of them had one black ear. All
striped cats with one black ear got to the final. What is the minimum number of finalists?

66 yateg SNAwoav cUPPETOXNA YLo To Staywviopo MISS CAT 2013.

META TOV MPWTO MPOKPLUATIKO , 21 amoppidpBnkav 8LotL Sev Ta Katddpepav va TLAGOUV TOVTIKL.

27 yateg amnod auTEG IOV EPELvVaY siyov plyeg kat 32 amd auTEC eixav éva pavpo auti. OAeg oL pLyoTEG
YATEC HE £va palpo auti Eéptaocav otov TEALKO.

Molog elval o eAAXLOTOC apLBUOC AUTWYV TToU £HTACAV OTOV TEAIKO ;

(A)5 (B)7 (C)13 (D)14 (E)27
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23. There are four buttons in a row as shown below. Two of them show happy faces, and two of
them show sad faces. If we press on a face, its expression turns to the opposite

(e.g. a funny face turns into a sad face after the touch).

In addition to this, the adjacent buttons also change their expressions. What is the least number of
times you need to press the buttons in order to get all happy faces?

BOBO

YTAPXOUV TEGOEPA KOUUTILAL O VPO OTwE paiveTal o KATW.

AVo amnd auta Seixvouv xapoyeAlaotd mpocwra kot SUo amod autd delyvouv Aumtnuéva pocwra.
‘Otav MATAOOULE OTO KOUUTL TPpOoWTTo N £éKdpaacn Tou aralel oto avtiBeto

(6nAadn to xapoyeAaoTo MPOowTo OAAGLEL 0€ AUTINUEVO TIPOCWTTO UETA TO TTATNA TOU KOUUTILOU).
EmutpooBeta pe auto , Ta apéows Suthava Koupma(rmpocwra) aAAG{ouV Kol autd TV ékdpac)
Touc. MNoLo eival 0 PLIKPOTEPOC APLBOC TIOU TIPETIEL VAL TIOTI)COULE TOL KOUUTILA WOTE VO EXOUUE OAQ
TO TPOCWTTO. XOUOYEAQOTA,

BOBO

(A)2 (B)3 (4 (D)5 (E)6

24. 40 boys and 28 girls stand in a circle, hand in hand, all facing inwards. Exactly 18 boys give their
right hand to a girl. How many boys give their left hand to a girl?

40 ayopla Kol 28 KOTEAEG OTEKOVTOL 0€ KUKAO , KPATWVTAG XEPL-XEPL, KL BAETOVTOG ECWTEPLKA TOU
KUKAou. AkplBw¢ 18 ayopla divouv to Se€l Toug xéplL oe koméAa. Mdoa ayopla ivouv To apLotepo
TOUG X€PL O€ KOTIEAQ;

(A)18 (B)9 (C)28 (D)14 (E)20

25. A2 X 2 X 2 cube is to be constructed using 4 white and 4 black unit cubes.

How many different cubes can be constructed in this way?

(Two cubes are not different if one can be obtained by rotating the other.)

‘Evag 2 X 2 X 2 kUBog Ba KOTAoKEUAOTEL XpnoLomoLwvTac 4 AcTIpouG Kot 4 pavpoug povadlaioug
KUBouC.

Méool Sladopetikoi KUBOL HMOPOUV va KATACKEUAOTOUV LE AUTO TO TPOTO;

(6V0 kUBoL bev Bewpouvtal StadopeTikol av o évag puropei va dSnutoupynBel pe meplotpodn
Karolou GAAou)

(A)16 (B)9 (C)8 (D)7 (E)6
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26. How many 3-digits numbers possess the following property: after subtracting 297

from such a number, we get a 3-digit number consisting of the same digits in the reverse order?
Nooot tpupndlot aplBuol £xouv TNV €€AG LOLOTNTA: LETA TTOU adALPECOULE TO 297 amnd auTtodv Tov
oplBuo, naipvoupe éva tpudrdlo aplBuo nou xet ta (bta Pndia aAld pe avtiotpodn oslpd.

(A6 (B)7 (C)10 (D)60 (E)70

27. When Matthew and Marten found their old model railway, Matthew quickly made a perfect
circle from 8 identical track parts. Marten starts to make another track with two of these pieces

as shown in the picture. He wants to use as few pieces as possible to make a closed track. How many
pieces does his track consist of?

Otav o Matthew kat o Marten Bprikav to maAald Toug HOVTEAD ypaupng odnpodpopou (track) , o
Matthew kataokeUaos ota ypryopa Eva TEAELO KUKAO LE 8 OOLOL KOUUATLO YPOULNAG
oldnpodpopou. O Marten apyilel va Kataokeualel GAAN ypapur odnpodpopou pe SUo amnod ta
KOUHATLO OTIWC daiveTal oto oxnua (Marten’s start). O€AeL va xpnoLLoToLoeL To Alyotepo duvato
OPLOUO KOUUATLWY YL VO KATOOKEUAOEL KAELOTN VPO olbnpodpopou. Noca kKoppatia Ba £xel
QuTh N ypauun onpodpouou;

(A)11 (B)12 (C)14 (D)15 (E)16

28. There were 2013 inhabitants on an island. Some of them were knights and the others were liars.
The knights always tell the truth and the liars always lie. Every day, one of the inhabitants

said: "After my departure the number of knights on the island will equal the number of liars" and
then left the island. After 2013 days there was nobody on the island. How many liars were there
initially?

Yridpyxouv 2013 kdtolkot og éva vnol. Kamolot Atav Utnoteg Kal oL urtoAoutot ftav Pevteg. Ot
noteg mavta Aéve tnv alnBela evw ot Pelteg tavta Aéve Pépata. Kabe pépa, £vag amnod toug
KOTOIKOUG éAeye: «MeTA TNV ovaxwpnon Hou o oplOpdc Twy mnotwy oto vnol Ba elval ioog e tov
0opLlOud Twv Peutwv» Kot HeTd £deuye amd To vnol. Metda amo 2013 pépeg Sev EeLve KAVEIC OTO
vnotl. Nooot Pelteg uTtpxav otnv apxn;

(A)O (B) 1006 (C) 1007
(D) 2013 (E) It is impossible to determine(&ev eival duvatdg o UTIOAOYLOUOG).

10
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29. Starting with a list of three numbers, the "changesum" procedure creates a new list

by replacing each number by the sum of the other two. For example, from { 3,4, 6} "changesum"
gives { 10,9, 7} and a new "changesum" leads to { 16,17, 19} .

If we begin with the list { 20, 1, 3}, what is the maximum difference between two numbers of the
list after 2013 consecutive "changesums"?

Apyilovtag pe pa Alota and tpeig apBuoug, n dtadkaocia «abpolopallayn» Snuloupyetl pia véa
Alota avtikaBlotwvtag Tov KaBe aplBuod e to abpolopa Twv A wv dvo. MNa mapdadelypa, and To
{3,4,6} n«aBpoloparayn» diver { 10,9, 7} kot pua véa «aBpolopariayr» Sivetto { 16,17, 19}
Av apyiooupe pe tn Alota { 20, 1, 3}, mowa eivat n péylotn dtadopa petag dvo apBuwv tng Alotag
UEeTA amo 2013 S1adoxIKEG «aOpOLoUOANAYESY.

(A) 1 (B) 2 (C) 17 (D) 19 (E) 2013

30. Alice forms 4 identical numbered cubes using the net shown. She then glues them together to
forma 2 x 2 X 1 block, as shown. Only faces with identical numbers are glued together. Alice then
finds the total of all the numbers on the surface of the block. What is the largest total that Alice can
get?

H ANikn &dnuLoupyel 4 MOVOUOLOTUTIOUC apLOUNUEVOUG KUBOUG XPNOLLOTIOLWVTAG TO TILO KATW OXAUA.
Metd ta KOAQ yLa va Kataokeudoet 2 X 2 X 1 pmAok, onwe ¢aivetat. Mévo mAeupgg pe (Sloug
apBpouc koAovvtal pali. H AAikn urtohoyilel To GBpolopa OAwv Twv aplBuwWV otnv emdpAvELD TOU
UrAok. Moto eival to peyaAltepo aBpolopo mou pmnopet va Bpet n AAikn;

1
316 4
2
(A)66  (B)68 (C) 72 (D) 74 (E) 76

11



